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Answer Any FIVE FULL Questions
OBE
Marks
1. Considerthegrammar S AA A- Aalb [5+5] CO1 L1

(i) Compute setsof LR (1) items (ii) Construct canonical LR(1) parsing table.
2. Construct the parsing table for LALR (1) parser using the following grammar.  [10] CO2 L3

S CC C- acC C-d

3. (@) Definethe following with examples: [4 CO3 L3
(1) Quadruples (ii ) Triples (iii) Indirect Triples

(b) Construct aDAG and athree address-code for the expression [6] CO3L3
a+2*(a-3)+(a-3)*3

4. Obtain SDD for simple type declaration. Construct a dependency graph for the CO3 L3
declaration int a,b,c aong with evaluation order. [10]

5.(@Q) Generate 3-address statement for the following programming construct. [6] CO3L3
I=1, sum=0
do
{

sum+=gi] * b[i]
i++
}while(i<=20)

(b) Write 3-address code for switch statement. [4]

6. For the given productions shown below, write semantic rules and construct CO3 L3

annotated parsetreefor 20*3+5 [10]
L-E E-E+T,E-T, T-T*F,TSF, F- (E),F-digit
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